ONPDA | SDTB0 |
dSH00612 12019

® 53 apB0 Di5e5..

D80aeB0

0otFaRG0
2366 HET/esBesbed- ard

220G TBO

2366 HED/esbesbes- e 3D
LIC Assistant- Numerical Ability NTSE(State-1) Grand Test

Send your Feedback to vidya@sakshi.com

Hoae60
2365 YAD - 8308 b,
NTSE(State-1) Grand Test

DERG0
2366 YAD- B0BOHS IS*S
JEE Main- Mathematics

SDB0
2365 YAD-
JEE Main- Physics

D8 D

BB0

88, @088/ Learn English
General Studies - Current Affairs

snAda SH00e e a5 Jtha,a 48 e ebobao?

% EQEHSeE © 20808 Satrdddhy & &E6%Se EarR) 6o ¢oineRd 1) $HodSoes
% DO Erwe AoHoB0b sededd Antl oxidantsss QS8 2) 5280H0&° Lot
5P% D@e Sor@os®  DHPoB  chedar B08. 3) Loz @oKos® Koot
” b S Erme s280Ho S 0en0d wDS- S2BEATR) HEHSE00E o 4) 8% Sesro IS0
o B80S 5%, ¥8)8 (K8°E), %3S $e°8308. 2S0Ho FH™ Gokerds 9. S IO TG &Y
TR K AaHo@K00 S SUyE00. 1) 8% @Ede #5@aben
SB0Ho o SAHos® Heeormre HrsiE Qgeaﬁ o8- 8abo Ko HABoDHerQE R) mRED BDothey
(Glycogen) 8r%08® deg ¢otnod. oSS Vitamin-¢ 8050 8) DBBH0 AT
RS S foofetok 808 S50mgR0S 38°25 Ba3bq esisorr HoHBID. Antioxidants ©8 3850806 4) Y ég@%oﬁ)
wScHarE® sedabo (Liver) aiel. ° %30@5.)35@&@ KB0HOE? ‘SR Feaw DEErS- oS08 e KHodd.  10. Ez_ae‘ég%o Qe &0% 80 N ?
° S0 Soogs Bo&® wdE wSahso S8 elondo'm DABD SFo, Y 88 &derdE B carote- 1) d%o PARRON
° ég&ﬁegasé QESoore HABae0E S RO GEE 23906 neQ) &ree SHErRto0. 3) dzpFaHo 4) orosd 56'55(3
SaHS oo o [5°20, Kr8PAdraddl, 35°as’ éiﬁaéb SHERSen B3¢0 So Erwe 11, 8ob 3S  BorQ8 Koo
o TBah  eiabTrR)  Wederod B0 B0l ELEIAHS B Baben sedao 8o Gotnod. BOBIE & ?
(Hepatology) esoer&h 5eSaHos® edhrH@eon Benb S g0l Dewd 1) 8°2S deg
o BaHo SrSS HEoE B8 e SEHoSS JcbB waldS  Erwe EAQ) TEHH0E. R) ofredale dex
D8 w0l KOS 8ol SEaHoSt SaseEHEos 3) Q% derTre et
HEJHS S06558° Goewod. L SPOO Hev 4) FHEIQ) BAosEo
o 30 Jrenid é%aéeée E&S Qoeso- e 12. 80& méﬁ@*&éég Segeen (Kupfter)
EaHoS Eerod S0 Seaeen’ sch'aagSeJo, Sosy Hoeceen WQosEo, S35 $8808°  weEaHo  28HD BAE® EQ™Ioon ?
(Hepatocytes) e90eesd K eerdo, §°H émé{;@o NEVRaL D0 ? 1) ga)?’.ﬁo
o seEadHo D& S BoHRR0s.  BESKo, eodd 55880 &850, 1) 9124 pr&dxen 2) 8812 (esdwen 2) Soedoo 3) s
wd dzedcho (Gall bladder)S®  $0oeR8 580 59A0H Lok S 3) 1500 esoen 4) 8216 re&kwen 4) s8cHo
QeSS &o& o S8 58 awdeno, esest 235075 &%eS (Auto imm- LrsS ¥8808° &Y HIHSY  13. DOLOY, DOHAS 9 Sgeeen
BYBANHS® & thrhHod une diseases) [ESID SR8 38 o edahdo ? SOGH?
o BYLsd o SQBAreod K FI EOATSow. De3SEIeen  Sofreso oty itan 1) 8%%0 2) se8cHo 1) 850 ) 85
950555 do¥o Hygore e Q) 8ah  Skhigen 2nEB8 sod §5)5, 938 3) orand 4) 2% 3) orormoo  4) dop
° HIDHHG KOAS oB o) wsahlo Fedepsrom. 26%2B0% @odIan. wwyds we)TtS whforr wdodio S 14, e aaﬁoé)‘aécfsa (Emulsification
Kt 5PSOH. SBRE HOEMOS BooePord IPHEER - ?’Déoﬁ)o He3S5& oronee 533 ?88?\) of fats) & 223806 ?
o &Y5% ToHo Hod HBy SRy w8 SoctSoen (Liver di 98 $HEc0 HDoSTBE® EDHK00d. D003 ? 1) 86 Sseen
b seoen (Liver diseases) S % I o ctio
OH0 SEIEROH. e e‘§c5°§3 s¥o 5680 SN0 PEHE0B. ahHs Sro, 1) g@s(oco 2) co@'sn)co 2) @6 odesren 3) Hel
&°R Q) PrroH SEHT wHBod. e  Fgd OST: wSahos® IS Fg 555 Q558 8 S5Boso, ooR St ) WHBEX 4) DRI 4) %5850
o ufito e By SradTrol, DHHPSEO Sg STy Tgd TSAHH Sr06, B500 G B B0encs. S8 $650&° ahrdae 15, & eSohdo Ko HAVAHEIESE0
QRSP0 o“omg;easéo ééa%%dsao o)’ (Swelling of liver) 536550 ‘?o@“c%szm e‘éoﬁaﬂvéo'ﬁog 5°50 6 ? 3 ‘0l (5o a°§<‘,b)
oD QRBSore Sehiod. ELOITOE® S EYRod. 0of wopsts hovo So SOR 1) 8°%%0 2) e8aho EeniHreHod ?
SEgee QHIPOS Fwredh & EOHTDY), oSS Ko, oo a528S,  HIEHS e, ms@aqg 3) 8y 4) @ 1) 80 2) 20
AKy0B. B8, 3080, BOFDY, @8 $H065h0 5o, #8085 £8TS w0 WI B505 8 aFSYso’ (World 3) wdapo  4) o
® 088 wOwen Swggore PE S0, SsHre SSTeen, ) Ko, o KEgsato, wsd SIS0, liver day) Q59 esthehHoertd?  16. :a_se‘é?gdéo@‘séb PEgOBET0 D Q0oF
=l (Fibrinogen), (@%@0fS Sffo, SrGo o Dy, §°Q) =%, Bhen arcbio, B BEige 1) 0S5 2) S 19 N (HerE0 ErHTEan ?
(Prothrombin)en s°8ahHo&® Sose o A BorHhE® TeSeo, Sokoe Ond  wdapo BB 3) DS T 4) S 22 1) 328 2) S
B5Eeam. e SHBaA% %3’5"@0)@» KogfdIeom. eeQowed. $0808° ‘wrE) &8 %_%&33 go(e30’ 3) e3E 4) EENS
o Iowgpre  doZHe wdabo e IS wHEER: $75% B850 %S 9935 09 RVD 0TS ?
Saedd  Bdod. FOLoE I 80 e Lo LeorbHod. ad 9S50HNS0 Erme 528HRD. 1) §°%%0 2) o (od 0TGIED
raH YIS0 @=BASHYD, © 8o wdanos® B8 AR D 8) s*8c%Ho 4) o
gfe S’éé BBAHS® P800S NCIEASISRG 33‘_;033. S0H Kegeen Qendoeran. 5edoho JESHomr HABAHETE wIE o)o§c53®o 89 égdéo A& ? 13 2)2 3)3 4)2 H2
daho GG BRod. &85 850 J80ew D38 w8wmo. B WSS SEeTren E08%5%0 HHoDd. ad 1) §8°%%850 R) esogsdo )3 D3 82 92 103
e A D E K oSt &8 gon 20K WS ETRE IVwoerd.  EARR)  HEHSD, ADoK 3) &880 1) $HR8%0 114 12)4 13)2 14)2 15) 3
Doy, B complex  Qeadoky D38 Hepatitis-A, Hepatitis-B,  200e® $0% HEaHS® ar&oerax. THEES BIS Kowoo &) 16) 2
danos® deg soerax. Hepatitis-C, Hepatitis - E NS 8- Eaed8 wor $Hob. 232303 ?
23:585¢5 x)ég_) - 25900 Srdos® 0ne ? 111) & Se@o  1v) g Je&o Soararoly Bunod. (iil) S8 0 Y SHY so& Duegeregto
e" © 1) #Sea0 2) @r8es0 ePee-2 Qo (0: K08 BodI AN Jevo BAigd.
1. % Eopo, argsdemo, ALK, $oky), 3) @’a%sole‘_émeo 4) S 1) e 0¥ Nlepplaale $h0d DBBKHoh. (1v) F Sr@o: 5. &g DT gAFPI0E®  INBEE )
E°5BH50 I A ? e 3; DSTes: (¥Sw0  @0dd  HEHY $02080D06. by I0F Ao HowoHoNod. NB0Q 1OV ?
1) Soeen 2) Rceorren Dok Fged DI HEBR (FS5e00 2) S8 500ERS WwTTred 238H8B50& 1) 65508 2) Senyes
3) JSodeesen 4) 6;9689?33%33 90eTH. 80 o0& HED) B&Qc‘é Q0200800 0H. &ASANl0: SO0 3) é’D?o&e;: 4) &U‘D@‘@
3. 2; DSGea: Jeen e LN 30&)@&)& 80 908, 3) K@é@@é@’&ﬁﬁ&% Bo&S 1) ET°55 000 1) 8 SoSEyoren e 1; QSes: e3°cg 3)65°§2Dc5°2606’5
1. &nigeso 2. aberdqeso B gore B8 e90€3 CESILSIECEISY SoRmrairod: danod. 1) Zbhgen R) 12 Jod&yoren TNSEE TR SDK0HE 203
3. JeIeS0 4. e9¢58qen S0 DHANYH DY Jdreeso 4) 30552298 R0HS JaH 11) §Baoen  3) 11 Qo0& oren . Henye 90E3 e3°cc§ Aol Sy
Sarorren edh: 3, soy0, gE8es0, Rt (093¢ seeoss c‘;)mega?scjé Q02005508 DBB0. Di-3,ii-2,1ii-1 508 rsTosts (H37°Q8 20w =0
QFo, Hoesoy, ésgé’é?’.qgo. [0 & BT gore HS8 S0t 28R). Di-4,ii-3,ii-2,iv -1 2)i-1,1i-2,iii-3 So. Dy ©08 Lo DTG
90E3 2T aEN B d 9 @go. (8 By 00gen  DEKWo S 2)i-1,ii-2,iii-3,iv-4 3)i-2,ii-3,1ii - 1 So&® oo 4 Sodsyore 4
DB0SD Bl ey Hoded 8 FAro&® )0 5@5&@9&3 o)) 3)i-2,ii-3,iii-4,iv-1 Hi-3,ii-1,1ii-2 0 e’ Sl 28w eSS0 )
OO, (e B Seoeds, o“ac(ge?m HOKEBID. 4)1-2,1-1,1m-3,1iv-4 2; D8Gea: 5088, oﬁwgaée)?g& SN Sooe8 o5 0N (EWE FeETODH
SO0 S Jroed dggtore 3. adhdlod: 8; DSYea: (1) (F° JooEo: S Sozvo 580 GBIAHI0 SHIT (@3E5Yes, H0RDTD. 830331950 @08 LS00
u%?é&&ﬁ 9 8eagToeD. eedar-1 DS wwroro® Sowododod. (ii) g8, Qéege)@s 8, 11, 12 SoS&yore 3)@38)@?60@6 SESLIGNISES FVJOtD
2. LOIE oo  JaegsEs @ 1) @8 oo 1) Ky SeEo sy Soo(&o: K@)‘é@@;@féﬁ&% R0HI sﬁdi)‘(oaaé‘s Do, & SHeS @55 BTS20 &s&S0.

epaper.sakshi.com



ﬁag 33655

Send your Feedback to vidya@sakshi.com

ORI | D0 |
dSd00612 12019

The ratio of rate of radiation energy emitted ..
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MODEL QUESTIONS

Potential energy between two
point charges is U = K/r, where r
is the distance between them. If
both the charges are left free
) r will increase if K is positive
2) r will increase if K is negative
3) r may decrease or increase
4) from given information we
can not conclude whether r
will increase or decrease
Dimensionally wavelength is
equivalent to

DL

B./LC
B./LC B
3) + 4) - Jic

Time constant of charging of the
capacitor shown in the adjoining
figure is

R
R

_J,r.,w_ci

[|
E [} S
=

1) 2RC 2) CR/2

3) zero 4) infinite

The positive time graph of a
particle of mass 0.1 kg is shown.
The impulse at t = 2 s is

1) 0.2 kg ms! 2)—-0.2kg ms’!
3) 0.1kg ms!  4) —0.4kg ms’!
A force F is applied on a block of
mass 2 kg as shown in figure

( Key & Hints)

1;

Under conservative force filed
(for which potential energy 1is
defined) a system tends to move
in a direction where potential

energy decreases.
1;

£ = velocity =m/s
B

and./LC = time period =s

CEJJLC
" B

= m = wavelength

3;

Capacitor is directly connected to
the battery. Hence, it gets
immediately charged or its time
constant is zero.

2;

Just before 2 s,

v; = slope of x — t graph = 2m/s
Just after 2 s,

V= slope of x —t graph =0

. Impulse at 2s = Ap

=P P = m(Vf_ Vi)

=—0.2 kg-m/s

4; Normal reaction and hence the

epaper.sakshi.com

(g =10 m/s?)

2 kg

L, =00
w, =04

1) The force of friction when the
block is moving is 8N

2) the force of friction when the
block is stationary is less than
I5N

3) block will not leave contact
with ground for any value of F.

4) the force of friction when the
block is moving is less than 8 N

In the V-T graph shown in figure

.‘.V

-
>

1) work done by the gas is
positive

2) internal energy of the gas is
increasing

3) heat is supplied to the gas

4) heat is rejected from the gas

Maximum kinetic energy of a

particle of mass 1 kg in SHM is 8

J. Time period of SHM is 4

second. Maximum potential

energy during the motion is 10 J.

Then,

a) amplitude of oscillations is
approximately 2.53 m

b) minimum potential energy of
the particle is 2 J

¢) maximum acceleration of the

particle is approximately 6.3
m/s?

limiting static friction and kinetic
friction in this case will be less
than the wvalues if F were
horzontal.

1;

Volume of the gas is increasing,
therefore work done will be

positive.
Temperature of the gas is
decreasing, therefore internal

energy of the gas is decreasing.
From the given information we
can not conclude whether Q is
positive or negative. Because W
is positive and Au is negative.

3;

Maximum kinetic energy

= energy of oscillation is SHM
- 8 =15 KA?

> | —
S|
I

From Eqgs. (1) and (i1), we get
K=2.5N/m

and A = 2.53m

Maximum acceleration of the
particle will be

JEE
Main

PHYSICS

SpeciaK

d) minimum kinetic energy of
the particle is 2 J

1) a and b only correct

2) c and d only correct

3) a, b and c only correct

4) b, ¢ and d only correct

Two spherical black bodies A and

B are emitting radiations at same

rate. The radius of B is doubled

keeping radius of A fixed. The

wavelength corresponding to

maximum intensity becomes half

for A while it remains same for

B. Then, the ratio of rate of

radiation energy emitted by A

and B i1s

D2 2)%

An infinite

carrying own

figure. Find the magnit-ude of

magnetic field at point P due to

the wire, if AP=r

3)4 4) Ya
V-shaped wire

a_ =0A
=K A2 053263mis?
m 1
3;
M., for A becomes half.
Therefore, temperature of A
becomes two times.
Radius of B i1s doubled.

Therefore area becomes four
times.
Now E o« T4 A or EA becomes 16
times while EB Becomes 4 times
ﬂ becomes 4 times

Eg
2;

B=2|t0__
41 rsin O

{sin90° —sin(90° - 06) }]

11.

in the adjacent| 12.

1) 'u_OltanO 2) 'u_oltan(f)

2r 2nr 2
Ho 0
__~_cot|_

3) 27”00 (2) 4) zero

. Charge 1s uniformly distributed

in a space. The net flux passing
through the surface of an imag
inary cube of side 'a' in a space is
¢. The net flux passing the
surface of an imaginary sphere of
radius 'a' in the space will be

3
I)o 2) 47 ¢
2z A

3) 5 9 D

Two thin rods of mass m and len-
gth [ each are joined to form 1 sha
pe as shown.The moment of ine-
rtia of rods about an axis passing
through free end (O) of a rod and

perpendicular to both the rods is
[

=
= o

L |

|

0 2

2 2 ml

—ml R

D)= m 2 %
3) m/? 4) _zml2

The disc of radius 0.1 m has a
mass of 4 kg. It is connected to
two springs of spring constant
400 N/m each as shown in figure.
The springs are originally unstre-
tched. The natural frequency of
small vibrations is

11. 4;
I=1+1,
2
1
)
2
4 2
ml> | mi? o smi?
= + +mre|=
3 12 3
12. 2;

When disc is rotated by small
angle O, elogation/ compression
x=RO

Spring force F =k x = kRO
Torque = T = 2(F.R) = 2k R20

2kR*® 4k
(VaymR>  m

o=

T
I
Since this torque is restoring in
nature.

a=_(inf )e

13.

14.

15.

13.

14.

15.

1) 1.59 Hz 2)3.18 Hz
3)4.78 Hz 4) 6.36 Hz

A point source S is placed in-
between two converging mirrors
having focal lengths f and 2f,
respectively. The value of d for
which only single image may be
formed is/are

| d |

()
Nt/

1) 3f 2) 5f

3) 6f 4) 8f

The potential energy of a particle

of mass 0.1 kg moving along the

x-axis is given by U = 5x(x - 4)J

where x is in metres. It can be

concluded that.

a) the particle is acted upon by a
constant force

b) the speed of the particle is
maximum at X = 2m

c) the particle executes simple
harmonic motion

d) the period of oscillation of the
particle is 5/5s

1) a and b are correct

2) c and d only correct

3) a, b and c only correct

4) b, ¢ and d only correct

A radioactive nuclide can decay

simultaneously by two different

processes which have individual

decay constants 1 and 2 respect-

ively. The effective decay con-

stant of the nuclide is A given by

I 1 1
DA=/ar  2) 5 =Tl +Tz

Now,

Substituting the values we get,
f=3.18 Hz.

1;

Object should lie at focus or
centre of curvature of both the
MmIrrors.

45

U = 5x2 — 20x

- F =—ﬂj =—(10x-20)
dx

F=0atx=2m

Hence mean position is at x =
2m. or at this point kinetic energy
will be maximum. Further K =

10 N/m

orT:27\]Z/l =—ns
K 5

4;

_d_N_ le n dN2
dt | dt dt

AN = AN + A,N

A=A +A, 0



